20. (a) Given

y=10+2xix; + ngxg

Find all
denivatives.

second-order

partial

b) Given

Y =x{+2x; where Xy =x7+5

Find out total derivative ;“ii 2
! 22. (a)

fc) If the utility function is
u = logiax; + bx; + e \fxx;) (b)
obtain the ratio of marginal utility. 4

form

nction in implicit
F(O. R, P, ¥)=10R0, +5Q, -2P, -4Y-18=0
Use implicit function rule to find—

fi) own price elasticity, E,;

23. (a)

(i) cross-price clasticity, Eyy; @)

(i) income elasticity at

a4 point
‘ﬁ' &r Y}‘ {2| 1, 20,_
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(b) Given the function Q = AK*[P, where

A, a,B are parameters and positive.
fi) Show that the function is a linear

homogeneous function. 2
i) Prove that
aQ aQ
K—+L—=-=
axta =@
when the function is linearly
homogeneous. 3

Mention the characteristics of convex

function with more than one
explanatory variable. 3
Derive the frst- and second-order

conditions in order to show that
indifference curve is negatively sloped
and convex to the origin taking the

utility function u= f(x,y), where
= total utility, x and y are the
quantities of two commodities. 7

Find the extreme values of the function
y=4x] +8xxy - 4x - x3 +10 5

Given the utility function u=2xy
subject to the budget constraint
3x+4y =90. Find out the equilibrium
values of x and y that maximize total
utility.
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(3)
(2)

i ing of
ite the economic mMeaning
3. Define an exact differential equation. 13. Wri

iqﬁ <]
4. Write two differences between scalar product i=l

8. What is orthogonal matrix? Give one ptions of technology

example. 14. Writem \ tfumm (A) in Leontief static open
I.
6. What is total differential? e ,
18. Mention two limitations of Leontief static
7. Mention two characteristics of homogeneous ‘ open input-output model.
function.
= ﬂ ‘5"‘50
oy :
Find ox, - 16. (a) Find the amutipn of the following .
differential equation :
9. Mention two isti
v characteristics of convex ﬂ+312y=31’2
dx
10. Mention the geometric definition of Solve : s
concavity and convexity for a two-variable (b) '
mmn s-ﬂx]..tgj- 35!1. 3-5: “0"0
dt
11. What is unconstrained o timizat
P tion? (c) Write down the Bengﬂ m:lpr'::otﬂ:l"m m:.rc of )
12. What is technology coefficient matrix? solving exact differen
Tum Over )
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